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Instruction : All questions carry equal marks.

1.

Discuss the factors affecting the birth rate and death rate in India. 14
OR

Explain :

(1) Fertility Rate

(2) Literacy Rate

(3) Infant Morality Rate

Discuss the characteristics of Indian Economy by giving the meaning of
underdeveloped economy. 14

OR

State the causes of inflation in India and discuss the remedies to control the inflation.

State the trend of domestic products at fixed price and current price by explaining the
meaning of Gross Domestic Product. 14

OR

Discuss the contribution of agriculture, industry and service sector in Gross Domestic
Product of India.

(A) Discuss the causes of low productivity in the field of agriculture in India. 14
(B) Discuss the components of Green Revolution.

OR
(A) Technical and Institutional factors to increase the agricultural production.

(B) Benefit of Green Revolution.
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5. (A) Fill in the blanks by selecting the proper alternative :

(1) Population survey is done at every ______ years in India.
(a) ten (b) seven
(c) five (d) fifteen
(2) National Public Fund was established in the year _____
(a) 2005 (b) 2001
(c) 2003 (d) 2004
(3) ____ was the pioneer of Green Revolution.
(a) Dr. Edmond Florence (b) Ramnathan
(c) Norman Borlaug (d)  Amir Khusro
(4) Privatization is done in _____ ways.
(a) two (b) five
(¢) four (d) three
(5) ____ types of unemployment are seen in rural area of India.
(a) Three (b) Four
(¢) Two (d) Five
(6) Value of money ____in inflation.

(a) remains proportionate (b) increases
(c) decreases (d) remains stable
(7) ITADP means __ .
(a) Intensive Agriculture District Programme
(b) Intensive Education Programme
(c) International Agriculture Development Programme

(d) Indian Agriculture Development Programme

(B) State the following statements are true or false :
(1) Population of Gujarat was 4.99% according to cencus of 2011.

(2) Gross Domestic Product = Raw Domestic Product + Net Instrumental
Income received from foreign countries.

(3) Secondary sector is included in manufacturing sector.

(4) Indian economy was based on agriculture before independence.
(5) Complete equality of Income can be possible.

(6) Privatization means disinvestment.

(7)  Green Revolution began in 1966-67 in India.
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